EXTREMAL PROBLEM OF A QUADRATICALLY HYPONORMAL WEIGHTED SHIFT

HEE YUL LEE AND MI RYEONG LEE*

ABSTRACT. Let W_{α} be a recursively generated quadratically hyponormal weighted shift with a weight sequence $\alpha:1,(1,\sqrt{x},\sqrt{y})^{\wedge}$. In [4] Curto-Jung showed that $\mathcal{R}=\{(x,y):W_{1,(1,\sqrt{x},\sqrt{y})^{\wedge}}\text{ is quadratically hyponormal }\}$ is a closed convex with nonempty interior, which guarantees that there are a lot of quadratically hyponormal weighted shifts with first two equal weights. They suggested a problem computing expressions of certain extremal points of \mathcal{R} . In this note we obtain a partial answer of their extremal problem.

AMS Mathematics Subject Classification: 47B37, 47B20, 47A57. Key words and phrases: Quadratically hyponormal weighted shift, extremal point.

1. Introduction

Let \mathcal{H} be a separable, infinite dimensional, complex Hilbert space and let $\mathcal{L}(\mathcal{H})$ be the algebra of all bounded linear operators on \mathcal{H} . For $A, B \in \mathcal{L}(\mathcal{H})$, let [A, B] := AB - BA. We say that an n-tuple $T = (T_1, ..., T_n)$ of operators in $\mathcal{L}(\mathcal{H})$ is hyponormal if the operator matrix $\left([T_j^*, T_i]\right)_{i,j=1}^n$ is positive on the direct sum of n copies of \mathcal{H} . For $k \geq 1$ and $T \in \mathcal{L}(\mathcal{H}), T = (T_1, ..., T_k)$ is weakly-hyponormal if $\lambda_1 T_1 + \cdots + \lambda_k T_k$ is hyponormal for every $\lambda_i \in \mathbb{C}, i = 1, ..., k$, where \mathbb{C} is the set of complex numbers.

An operator T is weakly k-hyponormal if $(T, ..., T^k)$ is weakly hyponormal. In particular, weak 2-hyponormality, often referred to as quadratic hyponormality, was discussed in [1], [2], and [3]. To detect the quadratic hyponormality of weighted shifts, Fialkow-Curto introduced the concept of positively quadratically hyponormal weighted shifts whose definition appears in [3].

Also it was shown in [8] that two notions of quadratic hyponormality and positively quadratic hyponormality are equivalent in the one-step extended weighted shifts $W_{\widehat{\alpha}}$ with a tail induced recursively by three numbers 0 < b < c < d, where

Received August 7, 2007. *Corresponding author.

^{© 2008} Korean SIGCAM and KSCAM.

 $\widehat{\alpha}:\sqrt{a},(\sqrt{b},\sqrt{c},\sqrt{d})^{\wedge}$ (which will be defined below). Furthermore, the flatness of weighted shifts makes an important role to study the quadratic hyponormality. As one of such models for studying its flatness, in [4] they considered the recursively weighted shift $\widehat{\alpha}(x,y):1,(1,\sqrt{x},\sqrt{y})^{\wedge}$ with $1\leq x\leq y$ and obtain that the set

$$\mathcal{R} = \{(x, y) : W_{\widehat{\alpha}(x, y)} \text{ is quadratically hyponormal}\}$$

is a closed convex set with nonempty interior and there exist unique maximum values x_M and y_M of x and y such that $\mathcal{R} \cap (\{x_M\} \times \mathbb{R})$ and $\mathcal{R} \cap (\mathbb{R} \times \{y_M\})$ are singletons, where \mathbb{R} is the set of real numbers. And they suggested the following extremal value problem.

Problem 1.1([Problem 5.1][4]). Find a concrete expression for x_M and y_M .

According to Corollary 2.2 below, it is worthwhile to consider only the case of weighted shift W_{α} with $\|W_{\alpha}\| = 1$ to detect the quadratic hyponormality. For a given $a \in (0,1)$, let $\widehat{\alpha}(x,y) : \sqrt{a}, (\sqrt{a}, \sqrt{x}, \sqrt{y})^{\wedge}$ be a weight sequence with $a \leq x \leq y$. In this note we solve Problem 1.1 for a weighted shift $W_{\widehat{\alpha}(x,y)}$ with $\|W_{\widehat{\alpha}(x,y)}\| = 1$.

We now recall [2] that a weighted shift W_{α} is said to be recursively generated if there exist $i \geq 1$ and $\Psi = (\Psi_0, \dots, \Psi_{i-1}) \in \mathbb{C}^i$ such that

$$\gamma_n = \Psi_{i-1}\gamma_{n-1} + \dots + \Psi_0\gamma_{n-i} \quad (n \ge i), \tag{1.1}$$

where $\gamma_n (n \geq 0)$ is the moment sequence of W_{α} , i.e., $\gamma_0 := 1$, $\gamma_{n+1} := \alpha_n^2 \gamma_n$ $(n \geq 0)$. Furthermore, (1.1) is equivalent to

$$\alpha_n^2 = \Psi_{i-1} + \frac{\Psi_{i-2}}{\alpha_{n-1}^2} + \dots + \frac{\Psi_0}{\alpha_{n-1}^2 \cdots \alpha_{n-i+1}^2} \quad (n \ge i).$$

Given an initial segment of weights $\alpha:\alpha_0,\cdots,\alpha_{2k}\ (k\geq 0)$, there is a canonical procedure to generate a sequence (denote $\widehat{\alpha}$) in such a way that $W_{\widehat{\alpha}}$ is a recursively generated shift having α as an initial segment of weights (cf. [2]). We now review this procedure in a special case of k=1. Given $\alpha:\alpha_0,\alpha_1,\alpha_2$ $(0<\alpha_0<\alpha_1<\alpha_2)$, let

$$v_0:=\left(egin{array}{c} \gamma_0 \ \gamma_1 \end{array}
ight), \quad v_1:=\left(egin{array}{c} \gamma_1 \ \gamma_2 \end{array}
ight), \quad v_2:=\left(egin{array}{c} \gamma_2 \ \gamma_3 \end{array}
ight).$$

The vectors v_0 and v_1 are linearly independent in \mathbb{R}^2 , so there exists a unique $\Psi = (\Psi_0, \Psi_1) \in \mathbb{R}^2$ such that $v_2 = \Psi_0 v_0 + \Psi_1 v_1$. In fact,

$$\Psi_0 = -\frac{\alpha_0^2 \alpha_1^2 (\alpha_2^2 - \alpha_1^2)}{\alpha_1^2 - \alpha_0^2} \quad \text{and} \quad \Psi_1 = \frac{\alpha_1^2 (\alpha_2^2 - \alpha_0^2)}{\alpha_1^2 - \alpha_0^2}.$$

Let $\widehat{\gamma}:=\gamma_n$ $(0\leq n\leq 1)$ and let $\widehat{\gamma}_n:=\Psi_1\widehat{\gamma}_{n-1}+\Psi_0\widehat{\gamma}_{n-2}$ $(n\geq 2)$. Then

$$\widehat{\alpha}_n := \sqrt{\widehat{\gamma}_{n+1}/\widehat{\gamma}_n}$$

 $(n \ge 0)$ (so that $\widehat{\alpha}_n = \alpha_n$ for $0 \le n \le 2$) and the coefficients of a recursively generated weighted shift is $\widehat{\alpha}_n^2 = \Psi_1 + \Psi_0/\widehat{\alpha}_{n-1}^2$ $(n \ge 1)$. Such a recursively weight sequence is written by $(\alpha_0, \alpha_1, \alpha_2)^{\wedge}$ (cf. [5], [7]).

2. Striving extremal values.

We consider a recursively generated weighted shift W_{α} with a weight sequence $\alpha: \sqrt{a}, (\sqrt{a}, \sqrt{x}, \sqrt{y})^{\wedge}$ and $0 < a \leq x \leq y$. In special case, we focus on the weighted shift W_{α} having the norm one which involves the general case.

We begin with the following elementary lemma.

Lemma 2.1. Let $0 < a \le b \le c$. Then $\sqrt{s} \cdot W_{(\sqrt{a},\sqrt{b},\sqrt{c})^{\wedge}} = W_{(\sqrt{sa},\sqrt{sb},\sqrt{sc})^{\wedge}}$ for any $s \in (0,\infty)$.

Proof. First we consider two weight sequences $\alpha:(\sqrt{a},\sqrt{b},\sqrt{c})^{\wedge}$ and $\alpha':(\sqrt{sa},\sqrt{sb},\sqrt{sc})^{\wedge}$ with $0< a \leq b \leq c$ for any fixed s>0. Put

$$\Psi_0 = \frac{ab(b-c)}{b-a} \quad \text{and} \quad \Psi_1 = \frac{b(c-a)}{b-a} \tag{1.2}$$

and let $\gamma_0 = 1$, $\gamma_1 = a$, and $\gamma_{n+2} = \Psi_1 \gamma_{n+1} + \Psi_0 \gamma_n$ $(n \geq 0)$. Then $\alpha_n := \left(\frac{\gamma_{n+1}}{\gamma_n}\right)^{\frac{1}{2}}$ $(n \geq 0)$ are the coefficients of a recursively generated weighted shift for the recursive sequence $(\sqrt{a}, \sqrt{b}, \sqrt{c})^{\wedge}$. On the other hand, by similar method, we can find the numbers

$$\Psi_0' = \frac{s^2 a b (b-c)}{b-a} = s^2 \Psi_0$$
 and $\Psi_1' = \frac{s b (c-a)}{b-a} = s \Psi_1$

about the recursive sequence $(\sqrt{sa}, \sqrt{sb}, \sqrt{sc})^{\wedge}$. Put $\gamma'_0 = 1, \gamma'_1 = sa$, and $\gamma'_{n+2} = \Psi'_1 \gamma'_{n+1} + \Psi'_0 \gamma'_n$ $(n \ge 0)$. Then $\alpha'_n := \left(\frac{\gamma'_{n+1}}{\gamma'_n}\right)^{\frac{1}{2}}$ $(n \ge 0)$ are the coefficients of $(\sqrt{sa}, \sqrt{sb}, \sqrt{sc})^{\wedge}$. Clearly $\alpha'_0 = \sqrt{s}\alpha_0$, and since

$$\alpha'_{i+1} = \sqrt{\frac{\gamma'_{i+2}}{\gamma'_{i+1}}} = \sqrt{s}\sqrt{\frac{\gamma_{i+2}}{\gamma_{i+1}}} = \sqrt{s}\alpha_{i+1} \ (i \ge 0),$$

 $\alpha'_n = \sqrt{s}\alpha_n$ for all $n \geq 0$.

Corollary 2.2. Let $\alpha : \sqrt{\alpha_0}, \sqrt{\alpha_1}, \cdots, \sqrt{\alpha_{n-1}}, (\sqrt{\alpha_n}, \sqrt{\alpha_{n+1}}, \sqrt{\alpha_{n+2}})^{\wedge}$ with $0 < \alpha_{i-1} \le \alpha_i$ for all $i \ge 1$. Then the unilateral weighted shift W_{α} has norm $\sqrt{\delta}$ if and only if the shift $W_{\alpha'}$ with

$$lpha':\sqrt{rac{lpha_0}{\delta}},\cdots,\sqrt{rac{lpha_{n-1}}{\delta}},\left(\sqrt{rac{lpha_n}{\delta}},\sqrt{rac{lpha_{n+1}}{\delta}},\sqrt{rac{lpha_{n+2}}{\delta}}
ight)'$$

has norm 1.

Proof. By Lemma 2.1,
$$W_{\alpha'} = \frac{1}{\sqrt{\delta}} W_{\alpha}$$
. So $||W_{\alpha'}|| = \left\| \frac{1}{\sqrt{\delta}} W_{\alpha} \right\| = \frac{1}{\sqrt{\delta}} ||W_{\alpha}|| = 1$.

Let $W_{\widehat{\alpha}}$ be a recursively generated weighted shift where $\widehat{\alpha}:(\sqrt{a},\sqrt{b},\sqrt{c})^{\wedge}$ and 0 < a < b < c. Since $\|W_{\alpha}\|^2 = (\Psi_1 + \sqrt{\Psi_1^2 + 4\Psi_0})/2$, we have that $\|W_{\widehat{\alpha}}\| = 1$ if and only if $c = \frac{a(b^2 - b + 1) - b}{(a - 1)b}$.

Theorem 2.3. Let W_{α} be a recursively generated weighted shift with $\alpha : \sqrt{a}, (\sqrt{a}, \sqrt{x}, \sqrt{y})^{\wedge}, 0 < a < x < y \leq 1, \text{ and } ||W_{\alpha}|| = 1.$ Then W_{α} is quadratically hyponormal if and only if $x \in (a, r_a]$ where r_a is the root of f(x) = 0,

where
$$f(x) = \sum_{i=0}^{4} c_i x^i$$
 with

$$c_0$$
: = $a > 0$,
 c_1 : = $-(a^5 - a^4 - a^3 + 3a^2 + 1) < 0$,
 c_2 : = $a(2a^4 - 3a^3 + a^2 + 3) > 0$,
 c_3 : = $-a^2(a^3 - 2a^2 - a + 3) < 0$,
 c_4 : = $a^3(1 - a) > 0$.

(Note that $0 < r_a < 1$.)

Proof. Since $||W_{\alpha}|| = 1$, by the above remark $y = \frac{a(x^2 - x + 1) - x}{(a - 1)x}$. Note that W_{α} is quadratically hyponormal if and only if sW_{α} is quadratically hyponormal for all s > 0. Combining this fact with [8] and Lemma 2.1, W_{α} is quadratically hyponormal if and only if $W_{\alpha'}$ is positively quadratically hyponormal with weight

sequence $\alpha': 1, \left(1, \sqrt{\frac{x}{a}}, \sqrt{\frac{a(x^2-x+1)-x}{a(a-1)x}}\right)^{\wedge}$. Adjusting numbers from (1.2), we obtain

$$\Psi_0 := -\frac{x-1}{a(a-1)}$$
 and $\Psi_1 := \frac{ax-1}{a(a-1)}$.

And also we consider

$$K := -rac{\Psi_1^2}{\Psi_0} \cdot rac{\Psi_1 + \sqrt{\Psi_1^2 + 4\Psi_0}}{2}.$$

By results in [4], $W_{\alpha'}$ is positively quadratically hyponormal if and only if

$$1 \le h_2^+ := \left(\frac{x[x\Delta + x(\Delta - 1)K + (a\Delta - x)K^2]}{ax[1 + (\Delta - 1)K] + a(a + x\Delta - 2ax)K^2}\right)^{1/2},$$

where

$$K := \frac{(ax-1)^2}{a^2(a-1)(x-1)}$$
 and $\Delta := \frac{a(x^2-x+1)-x}{a(a-1)x}$,

which is equivalent to $f(x) \ge 0$. Furthermore, since for $a < 1 < \frac{1}{a} < 1 + \frac{1}{a}$,

$$f(a) = (1-a)^3 a^4 (1+2a) > 0,$$

$$f(1) = -(1-a)^4 < 0,$$

$$f\left(\frac{1}{a}\right) = (1-a)^3 a > 0,$$

and

$$f\left(1+\frac{1}{a}\right) = -a^4 < 0,$$

the function f has 4 different positive roots. Hence the smallest root r_a of these positive roots is the required one.

The following remark provides the concrete expression for r_a .

Remark 2.4. According to simple computation, the root r_a is expressed by

$$r_a = -\frac{c_3}{4c_4} - \frac{1}{2}G - \frac{1}{2}\sqrt{\frac{c_3^2}{2c_4^2} - \frac{4c_2}{3c_4} - A - B - \frac{t}{4G}},$$
 (2.1)

where

$$A = \frac{2^{\frac{1}{3}}q}{3c_4(p+\sqrt{-4q^3+p^2})^{\frac{1}{3}}},$$
(2.1a)

$$B = \frac{(p + \sqrt{-4q^3 + p^2})^{\frac{1}{3}}}{32^{\frac{1}{3}}c_4},\tag{2.1b}$$

$$G = \sqrt{\frac{c_3^2}{4c_4^2} - \frac{2c_2}{3c_4} + A + B},\tag{2.1c}$$

$$t = -\frac{c_3^3}{c_4^3} + \frac{4c_2c_3}{c_4^2} - \frac{8c_1}{c_4},\tag{2.1d}$$

$$p = 2c_2^3 - 9c_1c_2c_3 + 27c_1^2c_4 + 27c_0c_3^2 - 72c_0c_2c_4,$$
 (2.1e)

$$q = c_2^2 - 3c_1c_3 + 12c_0c_4. (2.1f)$$

The quantity $-4q^3 + p^2$ in (2.1a) and (2.1b) can be negative. In fact, the imaginary parts of A and B are cancelled in computing of A + B. Also, by the proof of Theorem 2.3, r_a should be positive real number, which guarantees the positivity of $\frac{c_3^2}{2c_4^2} - \frac{4c_2}{3c_4} - A - B - \frac{t}{4G}$ in (2.1).

Example 2.5. If we consider $a = \frac{1}{2}$, then $f(x) = \frac{1}{16}x^4 - \frac{17}{32}x^3 + \frac{3}{2}x^2 - \frac{51}{32}x + \frac{1}{2}$ and so

$$r_a = \frac{1}{8} \left(17 - \sqrt{17} - \sqrt{2(41 - \sqrt{17})} \right).$$

Hence W_{α} is quadratically hyponormal if and only if

$$1/2 < x \le \frac{1}{8} \left(17 - \sqrt{17} - \sqrt{2(41 - \sqrt{17})} \right) \approx 0.53611.$$

REFERENCES

- 1. R. E. Curto, Joint hyponormality: A bridge between hyponormality and subnormality, Proc. Symposia Pure Math., 51(1990), Part II, 69-91.
- 2. R. Curto and L. Fialkow, Recursively generated weighted shifts and the subnormal completion problem, I, Integral Equations Operator Theory, 17(1993), 202-246.
- 3. R. Curto and L. Fialkow, Recursively generated weighted shifts and the subnormal completion problem, II, Integral Equations Operator Theory, 18(1994), 369-426.
- 4. R. Curto and I. Jung, Quadratically hyponormal weighted shifts with two equal weights, Integral Equations Operator Theory, 37(2000), 208-231.
- 5. R. Curto, I. Jung, and W. Lee, Extension and externality of recursively generated weighted shifts, Amer. Math. Soc., 130(2001), 565-576.
- 6. R. Curto and W. Lee, Towards a model theory for 2-hyponormal operators, Integral Equations Operator Theory, 44(2002), 290-315.
- 7. R. Curto and W. Lee, Solution of the quadratically hyponormal completion problem, Proc. Amer. Math. Soc., 131(2003), 2479-2489.
- 8. I. Jung and S. Park, Quadratically hyponormal weighted shifts and their examples, Integral Equations Operator Theory, 36(2000), 480-498.

Hee Yul Lee received his M.S. degree in Mathematics from Kyungpook National University in 2007. He is currently a Ph. D. Candidate at Kyungpook National University.

Department of Mathematics, College of Natural Sciences, Kyungpook National University, Taegu 702-701, Korea

e-mail: hy_friend@hanmail.net

Mi Ryeong Lee received her Ph.D. in Mathematics from Kyungpook National University. Her research interests are mainly on the gap theory of classes of bounded linear operators on Hilbert space.

Department of Mathematics, College of Natural Sciences, Kyungpook National University, Taegu 702-701, Korea

e-mail: leemr@knu.ac.kr